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# Discriminative price and uniform-price auctions

# JL—V—-0%%
N=2

# BADER
M=2

# FHfE BITICRIL—-V—0 1 DEOEL, 2 DEOE, - (CXF9 HEHMmE
value = [

[80,40],

[65,30]

]
foriin range(N):

print('"JL—v—"i+1, OiHi{E: ', end="

1




for j in range(M):
print(' ',value[i][j],end="")
print()

print()
# AMLAE RIT(CEIL—V—0 1 DB0R, 2 DB, - (EXFF B ARATAS
bid = [
[80,40],
[65,30]
]
foriin range(N):
print('JL—Y—"i+1, O AALAEAE: ', end="
for j in range(M):
print(' ',bid[i][j],end=""
print()

print()
# INTOTL—V—DAMEREE 1 DORNTNUELDHD
b = [0]*(N*M)
b_index = [0]*(N*M)
foriin range(N):
for j in range(M):
b[i*M+j] = bid[i][j]
b_index[i*M+j] =i

# AFLMSERRIECHEAEZS (NTIL-Y—H)
for i in range(N*M):
for j in range(N*M-1,i,-1):
if b[j] > b[j-1]:
b[jl, b[j-1] = b[j-1], b[j]
b_index[j], b_index[j-1] = b_index[j-1], b_index[j]

# EALEESZIAVEEDIRTE
# EREA—-0>3>05E
print('ZRIMMEsA—-I>3>:")




for j in range(M):
print(j+1,'"fI0EALE: JL—V—"b_index[j]+1," X328 = "b[j])

print()
# —HRM8A—-I23>0HE
print('—#KfA&A—023>:")
for j in range(M):
print(j+1,'fI0EALE: JL—v—"b_index[j]+1," I %8

,b[M])
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JU—v— 1 OFHiEiE: 80 40
JU—v— 2 oFHifE: 65 30

JU—v— 1 OAMLMEAE: 80 40
JU—v— 2 OAMAfEHE: 65 30

ZRIMASA—T>3>:

1 fInEiLE: JL-v— 1 X% = 80
2 fIDEME: JL—v— 2 XHE = 65
—HKAAgA -3

1 fInEiLE: JL-v— 1 X% = 40
2 fIDEME: JL—v— 2 ZHE = 40
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bid = [
[80,31],
[65,30]
]
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JU—-v—- 1 OFHifE: 80 40
JU—v- 2 OFHifE: 65 30

JU—v— 1 OAMMMEAE: 80 31
TJU—v— 2 OAMAEAE: 65 30

Z R A -3

1 fIDEMLE: JL-V— 1 ZHE = 80
2 fI0EALE: JL—1— 2 X3 = 65
—HKAEA—D23>:

1 fIDEME: JL-v— 1 ZHE = 31
2 fI0EALE: JL—1— 2 X3 = 31




